Distributor of PanaVise: Excellent Integrated System Limited
Datasheet of 506 - HAND PRESS IDC CONVERSION KIT
Contact us: sales@integrated-circuit.com Website: www.integrated-circuit.com

"
punnam|
L

-

ectronic components

Excellent Integrated System Limited
Stocking Distributor
Click to view price, real time Inventory, Delivery & Lifecycle Information:

PanaVise
506

For any questions, you can email us directly:

sales@integrated-circuit.com


http://www.integrated-circuit.com/manufacturers/Panavise.html
http://www.integrated-circuit.com/manufacturers/Panavise.html
http://www.integrated-circuit.com/tag/506.html
http://www.integrated-circuit.com/tag/506.html
mailto:sales@integrated-circuit.com
mailto:sales@integrated-circuit.com

|

= = £ Distributor of PanaVise: Excellent Integrated System Limited
= = = Datasheet of 506 - HAND PRESS IDC CONVERSION KIT
y— ‘mlf-‘n' Contact us: sales@integrated-circuit.com Website: www.integrated-circuit.com
clectronic co S
PRODUCT SPECIFICATION SHEET |DWG NO 506 SP
REVISIONS [ e
ALL DIMENSIONS ARE REV] ECO DESCRIPTION BY/DATE | APPROVED
FOR REFERENCE ONLY A INTIAL RELEASE 5 At 96
DIMENSIONS ARE IN INCHES [MILLIMETERS]
UNLESS OTHERWISE NOTED —I I' 1/2[12.70]
SPECIFICATIONS
ST
35732 ||2 1/8 SHIPPING WEIGHT ..... 2.4 POUNDS [1.09 KG]
[80.26] ||[54.23]
O, T MATERIAL;
1/4[06.35] T 1. GEAR RACK ............ MILD STEEL,
6 X 1/2 [12.7] DEEP 3/4 [19] SQUARE
[152.40] 3 BLACK OXIDE FINISH ON TEETH
[19.05] GROUND FINISH THREE SIDES
4 2. BASE ASSEMBLY (PN S506-100) .
BASE PLATE ... 6061-T6 ALUMINUM
J— -'— BOTTOM PLATE ..... 6061-T6 ALUMINUM
3/4 | SCREWS (4 EA) ... 10-32 X 7/8 FLAT HEAD
[1892] 2 s INC PUATED.
86.36
125/32 31/32 ( ! SPACERS (4 EA) .. #10 X 9/16
-—I 4.49] | 6061-T6 ALUMINUM
[45.:21] [24.49) I' NATURAL FINISH
— —_— 3. CABLE GUIDE ASSY (PN S506-120)
CABLE GUIDE ....... EXTRUDED 6063—T5 ALUMINUM
THUMB SCREW ... 6-32 X 3/4
i — = [[[51.18] STEEL THUMB SCREW
T s I T H ® 5 ZINC PLATED
° @ - 4. PLATEN ASSY (PN S506-110)
311/16 2 318 | 9 3 1/2 PLATEN oocererern 6061-T6 ALUMINUM
[93.98] | [55.88] | [228.60] | (89.28] STUD oo 1/4 X 3/4 1214 STEEL
p Lo H o2 [e , NATURAL FINISH
r / ] ROLL PIN .ocoreveee STEEL
[ —] — > BLACK OXIDE
_1 1/4 NOT SHOWN:
1/% [6.35] SCREWS (2 EA) ... 1/4-20 X 3/4
1 FLAT HEAD STEEL
4 38 [13.37) 1 [ ZINC PLATED

CONFIDENCE AND IS NOT TO BE COPIED, REPRODUCED, OR 7540 Colbert Drive, Reno, Nevada 89511-1225
REVEALED TO OR APPROPRIATED BY OTHERS, IN PART OR IN Phone (702) 850-2900, Fax (702) 850-2929

[120.65) ™ 3/16 ||l ALL DESICN, OPERATIVE, AND PROCESS DATA PERTAINING TO
[4.76] THE ARTICLE ON THIS SHEET IS THE PROPERTY OF PANAVISE AN A SE
PRODUCTS, INC., RENO, NV. THIS INFORMATION IS DISCLOSED IN

IECLE WL, I BERESED, SO O P, 1
9.250 [6.35] HOLE TRIVENTAL TO THE INTEREST OF PANAVISE, AND MUST BE
C'SINK 213/32 [810.67] ggrung O DewaND ANAVISE, AND MU RETROFIT KIT FOR
X 82" (2 PLACES) BASIC DIM. ENGLISH [ALTERNATE oM. MeTric] | PANAVISE ARBOR PRESS
DRAWN DATE 5 SCALE SIZE| DWG. NO. REV

| BENNETT |AUG 96| NONE | s11 of 1 |A 506 SP A



http://www.tcpdf.org
http://www.tcpdf.org

